HRRXE8EM3 (B 5 5KEH%R)

Trk30EHA 6 R

KipETHEaHER B A B % &

B B & 8 B X X @& & &

- KB ETBERBBESBROZMICETIRMIESLEE 1 HOREICES
T\ RO LB Y FRIFEBBHEERNIREELRELE T,

¥




HRAE8F5D4 (555K

(ERK 29 4REE)

1 A
BEEeR 34 000 M

g = H

BEEHERNXHKEF

®RE L3P

(BpZ : M)

#

& H & %

A OE B R E

40400 |(BR) ik

Bt

&

7

I

#

7

IR

i

%

EW-BREEDR

#p

E=

-4

Bt R &

B B AR

(63

-4

-4
<4
A
=

% B B

3 B | 43600 i

() HEMICIT, E2ZXHONREERRT 5,




2 N %E Ko Bdar0

i = %Erﬂiﬁgﬁ § p2lfs
CACID'Y, < :

(A &R

Yo L0 0 ﬂi!f%\/

& A

i X &

<

BL. Ik /NI

"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" RiT%

| Fhek

%A
i
(0192)27—1111

2. TE8(%) / fEaTikeG 1-6-21 2(0198)23 6321 .

L&t/ Rz




ﬁ S {ﬁmwk 212 _U.OQ)W\N/H\HA*\M K

=3CEN)

"EROS2UGRU B%O0 I OBHSHOWESHORS 022 U ABIEN02 O TXRDE PEMaaTmaiT & 00c6.L £ 2] =] =K =)
"BROYUIEHMHESLD DI M T 8T - BERODIR D2SUFTYBHEOOARY — ‘BEOBEEW YIS -
"B RO NEIED B HERODME N SEY “EIE{ M LIN008T -
EHOO9S'LO| |mmows| HOOVOY | ‘esmmscug
0 2 SsY — B
IRNES D LOYRARLOROIURESPISE KT . B EPIDIERQIET B
=T 22 | Lk £ 2vxeooLor | 008CY t 1
EH Ry B B 2 B|y| 2rxmoors 00V'OS NI Iy yin (om|
: S = YW o= Y ’
® g @ M\._‘ mm@l\.umm\%%ﬁi WM E E,n w #\* Y OMOE uﬁv % EH mu @ M
{5k 1 X L 0 gzn-gane® |  ® 0opes He B B E =
| (EIE0002) 2
HYSH 0 WY O]
5 o | B B | 3 oo |m B ”
& .
@) 22 -
= il
Y B
83
| £
H & Z ok =2 H & |z B |2 kg 22
H o e =)
§E uE H
¥E uE 2| g8 loz6'le |+ |osv's IO | HP |5
¥E ¥8 S| #0400 | v |ozigh | wemwTenor | O
18 B & WX @ B 3T o HEZ M HE | T -8B B BY EHEEYE B X g &
w OE m W FER N EEL WO P o
€22(L2)2610 XV4  1111(L2)2610 3L 6oy [Nifi3 E20%-
6l-SlEIRFE P BN ME TP (¥)B 06 H ¢ ~ (B)EH S H S Fe6z & ML

o LR EH LR EUVEERD I (LB EOY

B ¢ H ¢ F 62 ¥ & By



5/28~5/30 HRENIREMHESL

RINE BErE&8 L
H Ef 57 i » WERFHB ‘ ﬂ%ﬁ%
5/28~30 | X@EH 60, 480 [ | Z5E%E [1 &58 L]
(JR) (@15,120 ) | OKRITHIER~ K 7 ER 15,120 [ X1 4 =15,120 [
EERES) [3 & 5%t5st]
15, 120 [ X 3 4 =45, 360 M
21,920 M | %@ [1 &58 E]
(@5,480 M) | (ZKRITHIBR~ HHIBR 5,480 [ X1 4 =5, 480 M
EREERERF) (3 & 5rxt54t]
5,480 [ X3 4 =16, 440 [
5/28~30 | fEIEE 36,400 M | E1A%E [1 &5 E]
(@9, 100 /M) 9,100 [ X14=9,100 1
[3 £ 5rxt544]
9,100 9 X3 4 =27, 300 M
42,800 M | 15810% [1 &5F k]
(@10, 700 ) 10, 700 9 X 1 4 =10, 700 [
(3 £&5rxt5st]

10, 700 9 X3 4 =32, 100 M

[#t&%E] 161, 600M— [HeAeM] 121, 200M= [3tL4%] 40, 400H




